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Abstract. In this paper, first we introduce the concept of fuzzy metric type space and consider the topology
induced by a fuzzy metric type. Next, we consider the complete fuzzy metric type spaces and prove that
any G; set in a complete metric type space is a complete fuzzy metrizable type space.

1. Preliminaries

The theory of fuzzy sets was introduced by Zadeh in 1965 [7]. After the pioneering work of Zadeh, there
has been a great effort to obtain fuzzy analogues of classical theories. Among other fields, a progressive
developments is made in the field of fuzzy topology. One of the most important problems in fuzzy topology
is to obtain an appropriate concept of fuzzy metric space. This problem has been investigated by many
authors from different points of view. In particular, George and Veeramani [1] have introduced and studied
anotion of fuzzy metric space. Furthermore, the class of topological spaces that are fuzzy metrizable agrees
with the class of metrizable topological spaces (see [1] and [2]). This result permits Gregori and Romaguera
to restate some classical theorems on metric completeness and metric (pre)compactness in the realm of
fuzzy metric spaces [2] ,[3] and [4].

In this paper we introduce the concept of fuzzy metric type space which is a generalization of fuzzy
metric space introduced by George and Veeramani [1]. In this paper we prove that any Gs set in a complete
metric type space is a topologically complete fuzzy metrizable type space (Alexandroff Theorem).

Definition 1.1. A 3-tuple (X, M, #) is called a fuzzy metric type space if X is an arbitrary (non-empty) set,
* is a continuous t-norm, and M is a fuzzy set on X?> x (0, ©), satisfying the following conditions for each
x,y,z€ Xand t,s >0,

(1) M(x,y,t) >0,

(2) M(x,y,t) =1ifand only if x = y,

() M(x,y,t) = M(y, x, 1),

(4) M(x,y,t)* M(y,z,s) < M(x,z, K(t + s)) for some constant K > 1.,
(5) M(x,y,.) : (0,00) — [0, 1] is continuous.

M(x, y,t) is considered as the degree of nearness of x and y with respect to t. The axiom (1) is justified
because in the same way that a classical metric type cannot take the value co then M cannot take the value
0. The axiom (2) is equivalent to the following:
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M(x,x,t) =1forallx € Xand t > 0, and M(x, y,f) < 1forall x # yand ¢ > 0.

The axiom (2) gives the idea that when x = y the degree of nearness of x and y is perfect, or simply 1, and
then M(x, x,t) = 1 for each x € X and for each t > 0. Finally, in (5) we assume that the variable t be have
nicely, that is assume that for fixed x and y, t = M(x, y, t) is a continuous function.

Remark 1.2. The space L, (0 < p < 1) of all real functions f(x), x € [0, 1] such that fol [f(x)Pdx < eo, is a type
metric space. Define

1
a(f,g) = ( fo ) - g00Pd)F,

for each f,g € L,. Then d is a metric type space with K = 20

Example 1.3. Let X be the set of Lebesgue measurable functions on [0, 1] such that fol |f(x)Pdx < co, where

p > 0is a real number. Define
t

1 1
t+(fy If () — g()ldx)?
fort > 0 and x, y € X. Then by Remark 1.2, (X, M, .) is fuzzy metric type space with K = 2%’.

M(f,g,t) =

Example 1.4. Let (X, D) be a metric type space with constant K > 1. Define
t
M(x, y,t) = YD 1)
fort > 0and x, y € X. Then (X, M, .) is a fuzzy metric type space with constant K. (1)—(3) and (5) are obvious
and we show (3).
t s
t+D(x,z) s+ D(z,y)
1 1

1+ —D(’t"z) 14 —Df’y)

1 1

D(xz) D(z,y)
(t+s) (t+s)

1

(D(x,2)+D(z,y))
T+ =5

1

D(x,z)
1T+ %its)

K(t +s)
K(t+s)+D(x,vy)
= M(x,y K(t+5)).

Example 1.5. Let (X, D) be a metric type spaces with constant K > 1. Define

M(x,z,t) - M(z,y,5)

IA

1+ 1+

IA

IN

—(Dxy)

M(x,y,t)y=¢e ¢

fort > 0and x, y € X. Then (X, M, -) is a fuzzy metric type space with constant K. (1)—(3) and (5) are obvious
and we show (3).

t s
M(x,z,t)- M(z,v,s .
( )- MGz, y,) t+D(x,z) s+ D(z,v)
-DGz)  ~DEy)
= e t e s

M(x, y,K(t +5)).
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Remark 1.6. Let (X, d) be a metric space and D(x, y) = (d(x, y))’, where p > 1 is a real number. Then D is a
metric type space with K = 2°~1. The triangle inequality follow easily from the convexity of the function
() = 2 (x > 0)

Example 1.7. Let X be a nonempty set. Define

_ =yl

M(x,y,t)=¢ ¢

for t > 0 and x,y € X. Then by Example 1.5 and Remark 1.6, (X, M, ') is a fuzzy metric type space with
K =21

Note that the above examples show that, every fuzzy metric type is a fuzzy metric but the converse is not
true generally.
Let (X, M, ») be a fuzzy metric type space . For t > 0, the open ball B,(r, t) with center x € X and radius
0 < r < 1is defined by
Bi(r,t)={ye X : M(x,y,t) >1—r}.

Proposition 1.8. Let (X, M, *) be a fuzzy metric type space. Define

™ =
{AcM:xeA — At>0, &0 <r <1, such that By(r,t) C A}

Then T is a topology on X.

Proof. (i) Clearly @ and X belong to T
(ii) Let A1, A, ..., Ai € Ty, and put
U = UjelA;

We shall show that U € 7. If a € U, then a € UjfA; which implies that a € A; for some i € I. Since A; € Ty,
there exists 0 < r < 1, t > 0, such that B,(r,t) C A;. Hence

Bﬂ(l", t) CA, CUgA; = U

This shows that U € tf.
(iii) Let A1, Ay, ..., Ay € Ty, and U = N, Ai. We shall show that U € tr. Leta € U. Thena € A; foralli € I.
Hence for each i € I, there exists 0 < r; < 1, t; > 0 such that B,(r;, t;) C A;. Let

r=min{r;, i € I}

and
t = max{t;, i € I}

Thusr<riforalliel,1-r>1-r;foralliel. Also,t> 0. So, B,(r,t) C A; for all i € [. Therefore
B,(r,t) C UifA; = UL
This shows that U € 7). O

Please note that in the above topology X is the set of points and the fuzzy metric type is fuzzy evaluation
of two points of X while, for example, in the topology introduced by Yue and Shi [6] the fuzzy metric is
fuzzy evaluation of two fuzzy sets.

Let (X, M, *) be a fuzzy metric type space. A sequence {x,}in X converges to x if and only if M(x,, x,f) — 1
as n — oo, for each t > 0. It is called a Cauchy sequence if for each 0 < ¢ < 1 and t > 0, there exits ny € IN
such that M(x,, x,,, t) > 1 — € for each n,m > ng. The fuzzy metric type space (X, M, *) is said to be complete
if every Cauchy sequence is convergent. A subset A of X is said to be F-bounded if there exists t > 0 and
0 <r < 1lsuchthat M(x,y,t) >1—-rforallx,y € A.
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Proposition 1.9. Every fuzzy metric type space with constant K is Hausdorff.

Proof. Let (X, M, *) be a fuzzy metric type space. Let x, y be two distinct points of X. Then 0 < M(x, y,t) < 1.
Let M(x,y,t) = r, for some r,0 < r < 1. For each o, r < vy < 1, we can find an r; such that r{ * 7, > ro. Now

consider the open balls B, (1 —ry, ﬁ) and B, (1 -7y, ﬁ) Clearly

t t
Bx(l—rl,ﬁ)ﬁBy(l—ﬁ,E():@

Otherwise, if there exists z € B, (1 -1, ﬁ) N B, (1 -1, i) Then
M(x,y,t)

t t
M(xz 5) M (=, o)
> ri*rp =271

r

\%

> 7

which is a contradiction. Therefore (X, M, *) is Hausdorff. O

Proposition 1.10. Let (X, D) be a metric type space and M(x, y,t) = Wt(w) be the corresponding standard fuzzy

metric type on X. Then the topology tp induced by the metric D and the topology Ty induced by the M are the same.
That is, Tp = T

Proof. Suppose that A € tp. Then there exists € > 0 such that B(x,€) C A, for every x € A. For a fixed t > 0,

we obtain that ;

My, 1) = t+ D(x,y) “ite

Let

Then

M(x,y,t)>1—-r.
It follows that, B(r,t) € A. Hence A € t)1. This shows that tp C t). Conversely, suppose that A € ).
Then there exists 0 < 7 < 1 and t > 0 such that B,(r,t) C A for every x € A. We obtain that

M(x,y,t) = 1-r

t
t+ D(x,v) g
t>A-nt+1-rD(x,y)

D(x,y) <

1-r
Lete = 1”—_tr where 0 < € < 1. Then D(x, y) < €, and therefore B(x,€) C A. Hence A € tp. This implies that
™™™ C 7p. Therefore tp = ). [

Proposition 1.11. Every compact subset S of a fuzzy metric type space (X, M, #) is F-bounded.

Proof. Given S a compact subset of X. Fixt > 0 and 0 < r < 1. Consider an open cover{B,(r,t) : x € X} of S.
Since S is compact, there exists x1, X, ..., X, € X such that

S C UL By (1.

Letx,y € X. Thenx € B,,(r,t)and y € Bx/.(r, t) for some 7, j. Therefore M(x, x;,t) > 1 —rand M(y, xj,t) > 1—r.
Now, let @ = min{M(x;, xj,t) : 1 <1i,j <n}. Thena > 0. Now

M(x, Y, K(ZKt + t)) 2 M(x, Xi, t) * M(xir xjr t) * M(xj/ Y, t) 2 (1 - 7’) * (1 - T) *a,

where K is the constant to the condition (3). Taking t = KQKt+#)and (1 -r)*(1-r)*a>1-50<s<1,
we have M(x, y, t)>1-sforallx, y € X. Hence S is F-bounded. 0O
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Proposition 1.12. Let (X, M, +) be a fuzzy metric type space and Ty be the topology induced by fuzzy metric type.
Then for any nonempty subset S C X we have

1. S is closed if and only if for any sequence {x,} in X which converges to x, we have x € S;

2. if we define S to be the intersection of all closed subset of X which contain S, then for any x € S and for any
0<r<1landt>0,wehaveBy(r,t)NS # 0.

Proof. 1. Assume that S is closed and let {x,} be a sequence in S such that lim,_, x,, = x. Let us prove that
x € S. Assumenot, i.e. x ¢ S. Since S is closed, then there exists 0 < r < 1and ¢ > 0 such that B,(r,{) N X = 0.
Since {x,} converges to x, then there exists N > 1 such that for any n > N we have x, € B,(r,t). Hence
Xy € By(r,t) N S, which leads to a contradiction. Conversely assume that for any sequence {x,} in S which
converges to x, we have x € 5. Let us prove that S is closed. Let x ¢ S. We need to prove that there
exists 0 < v < 1 and t > 0 such that By(r,f) NS = . Assume not, i.e. forany 0 <r < 1 and t > 0, we
have By(,t) NS ¢ 0. So for any n > 1, choose x, € Bx(%, t) N S. Clearly we have {x,} converges to x. Our
assumption on S implies x € S, a contradiction.
2. Clearly S is the smallest closed subset which contains S. Set

S'={x€X; foranye > 0, thereexistsa € Ssuchthat : M(x,a,t) >1—r}

We have S C 5. Next we prove that S* is closed. For this we use property 1. Let {x,} be a sequence in S*
such that {x,} converges to x. Let 0 < r <1 and t > 0. Since {x,} converges to x, there exists N > 1 such that
for any n > N we have

t
M(x,x,,, ﬁ) >1-r,

where K is the constant. Let ro = M(x, x,,, i) >1—r. Sincery >1—r,wecan find ans, 0 < s < 1, such that
1o >1—5>1—ry. Now for a given ry and s such that rp > 1 —s we can find r, 0 < r; < 1, such that

rox(1—r)=1-s.

Now since x;, € §*, there exists a € X such that

t
M(Xn,ﬂ,i) >1-r.

Hence ; ;
M(x,a,t) > M(x,xn, R)*M(xn,a, R) >rgx(1—-r)>21-s>1-v,
which implies x € S*. Therefore S* is closed and contains S. The definition of S c §*, which implies the

conclusion of 2. [J
Note that, every compact subset of a Hausdorff topological space is closed.

Proposition 1.13. Let (X, M, +) be a fuzzy metric type space and )y be the topology induced by fuzzy metric type.
Let S be a nonempty subset of X. The following properties are equivalent

(a) S is compact.
(b) For any sequence {x,} in S, there exists a subsequence {x,,} of {x,} which converges, and if {x,,} converges to
x then x € S.

Proof. Assume that S is a nonempty compact subset of X. It is easy to see that any decreasing sequence of
nonempty closed subsets of S have a nonempty intersection. Let {x,} be a sequence in S. Set C,, = {x,, :
m > n}. Then we have (,5; C, # 0. Let x € (), Cy. Then for 0 < r < 1,t > 0 and for any n > 1, there
exists m, > n such that M(x, x,,,,t) > 1 —r. This clearly implies the existence of a subsequence of {x,} which
converges to x. Since S is closed, then we must have x € S.
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Conversely let S be a nonempty subset of X such that the conclusion of (b) is true. Let us prove that S is
compact. First note that for any 0 < r < 1, ¢ > 0, there exists x1, xp, ..., x, € A such that

Sc U By (. b).
i=1

Assume not, then there exists 0 < ry < 1, such that for any finite number of points x1, x2, ..., x, € X, we have

S¢| Byt t).
i=1

Fix x; € X. Since S € By, (o, t), there exists x, € S\ By, (to, t). By induction we build a sequence {x,} such that
xn+1 € S \ (BX1 (70, t) U U BX,,(rO/ t))

for all n > 1. Clearly we have M(x,, x,,,t) < 1 —ro, for all n,m > 1, with n # m. This condition implies
that no subsequence of {x,} will be Cauchy or convergent. This contradicts our assumption on X. Next let
{Oa}aej be an open cover of S. Let us prove that only finitely many O, cover S. Fix t > 0, First note that there
exists 0 < rg < 1 such that for any x € S, there exists @ € | such that B,(ro,t) C O,. Assume not, then for
any 0 < r < 1, there exists x, € X such that for any a € |, we haveB,,(,t) £ O,. In particular, for any n > 1,
there exists x, € X such that for any a € J, we have B,, (%, t) ¢ O,. By our assumption on S, there exists
a subsequence {x,,} of {x,} which converges to some point x € X. Since the family {O,}.cj covers X, there
exists ap € J such that x € O,,. Since O,, is open, there exists 0 < ryp < 1, and ty > 0 such that By(rp, t) C O,.
Fixt > 0and lett; = tK, forany ng > 1and a € ank(i, H = BX”K(i, %), we have

t to—t 1
Mi(x,a,ty) > M(x,xnk, 0 01 )

-4 2]
T) *M(x”k,a, E) > M(x,x”k, T), 1- Tl_k
for ny large enough, we will get FM(x,a,t) > 1 —rg for any a € ank(nlk, f). In the other words, we have
ank (nlk, t) C By(ro, to), which implies
1
ank (n—k,t) C Oan'

This is in clear contradiction with the way the sequence {x,} was constructed. Therefore there exists
0 < 79 < 1 such that for any x € S, there exists a € | such that By(rg,t) C O,. For such ry, there exist
X1,X3, ..., X, € X such that

Sc Bx1 (1’0, t) U..u an(l’o, t)

But for any i = 1, ..., 1, there exists a € | such that By, (ro, t) C O, i.e. S C Oy, U ... U O,,. This completes the
proof that S is compact. [

Definition 1.14. Let (X, M, #) be a fuzzy metric type space. The subset S of X is called sequentially compact
if and only if for any sequence {x,} in S, there exists a subsequence {x,,} of {x,} which converges, and
limy, .o € X. Also S is called totally bounded if for any 0 < r < 1 and ¢ > 0, there exist x1, x, ..., X, € X such
that

S C By (r,t) U...UBy, (1, 1).

Theorem 1.15. In a fuzzy metric type space every compact set is closed and F-bounded.
Proof. From Propositions 1.9 and 1.11 we get the result. [J

Two next corollaries get from last results about fuzzy metric type spaces.

Theorem 1.16. In a fuzzy metric type space every compact set is complete.

Corollary 1.17. Every closed subset of a complete fuzzy metric type space is complete.
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2. Main Result

Lemma 2.1. Let (X, M, *) be a fuzzy metric type space with K > 1 and let A € [0, 1) then there exists a fuzzy metric
type m on X such that m(x,y,t) > A, for each x,y € X and t > 0 and m and M induce the same topology on X.

Proof. We define m(x, y,t) = max{A, M(x, y,t)}. We claim that m is fuzzy metric type on X. The properties
of (1),(2),(3) and (5)are immediate from the definition. For triangle inequality, suppose that x,y,z € X and
t,s > 0. Then m(x,z,K(t +5)) > A and so m(x,z,K(t + s)) > m(x, y,t) * m(y, z,s) when either m(x,y,t) = A or
m(y,z,5) = A. The only remaining case is when m(x, y,t) = M(x, y,t) > A and m(y, z,5) = M(y, z,s) > A. But
M(x,z,K(t+s)) = M(x, y, t)*M(y, z,s) and m(x, z, t+s) > M(x, z, t+s) and so m(x, z, K(t+s)) > m(x, y, t)*m(y, z,s).
Thus m is a fuzzy metric type on X. It only remains to show that the topology induced by m is the same
as that induced by M. But we have m(x,, x,t) — 1 if and only if {A, M(x,,x,f)} — 1 if and only if
M(x,,x,t) — 1, for each t > 0, and we are done. [

The fuzzy metric type m in above lemma is said to be bounded by A.

Definition 2.2. Let (X, M, *) be a fuzzy metric type space, x € X and ¢ # A € X. We define

D(x, A, t) = sup{M(x,y,t) : y € A} (t>0).
Note that D(x, A, t) is a degree of closeness of x to A at ¢.

Definition 2.3. A topological space is called a (topologically complete) fuzzy metrizable type space if there
exists a (topologically complete) fuzzy metric type inducing the given topology on it.

Example 2.4. Let X = (0,1]. The fuzzy metric type space (X, M, -) where M(x, y,t) = is not complete

t
BHx-y)?
because the Cauchy sequence {1/n} in this space is not convergent. Now, if we consider triple (X, m,.) where

m(x,y,t) = It is straightforward to show that (X, m, -) is a fuzzy metric type space, and that is

complete. Since, x, tend to x with respect to fuzzy metric type M if and only if (x, — x)*> — 0 if and only if
x, tend to x with respect to fuzzy metric type m, then M and m are equivalent fuzzy metrics types. Hence
the fuzzy metric type space (X, M, -) is topologically complete fuzzy metrizable type.

Lemma 2.5. Fuzzy metrizability type is preserved under countable Cartesian product.

Proof. Without loss of generality we may assume that the index set is IN. Let {(X,,, m,,+) : n € IN} be a
collection of fuzzy metrizable type spaces. Let 7, be the topology induced by m,, on X,, for n € IN and let
(X, 7) be the Cartesian product of {(X,, 7,) : n € IN} with product topology. We have to prove that there is
a fuzzy metric type m on X which induces the topology 7. By the above lemma, we may suppose that m,

e e

is bounded by 1 — ¢, (™ = gxgx---x¢,¢ € (0,1)) i.e. my(xy, Yn, t) = max{l — €™, M(x,, y, t)}. Points of
X = [1,en Xn are denoted as sequences x = {x,} with x,, € X, for n € IN. Define m(x, y, t) = [1,—1 1u(Xn, Y, t),
foreachx,y € Xand t > 0, ([I); a4y = a1 *ax*- - -*ay,). First note that m is well defined since a; = H;zl(l — )
is decreasing and bounded then converges to a € (0,1). Also m is a fuzzy metric type on X because each m,
is a fuzzy metric type. Let U be the topology induced by fuzzy metric type m. We claim that U coincides
with 7. If G € U and x = {x,} € G, then there exists 0 < r < 1 and t > 0 such that B(x,7,f) ¢ G. For each
0 <r <1, we can find a sequence {5,} in (0, 1) and a positive integer Ny such that

Ny 00
H(l—én)* H 1-eMy>1-r
n=1 n=Np+1

Foreachn =1,2,---,Ny, let V,, = B(xy, 6,, t), where the ball is with respect to fuzzy metric type m,. Let
Vi = Xy for n > Ng. Put V =[],y Vi, then x € V and V is an open set in the product topology 7 on X.
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Furthermore V C B(x, 1, t), since for each y € V

m(xl Y, t) = H mn(xnr Yu, t)

n=1
No oo

= H My (X, Yu, t)* H My (X, Yu, t)
n=1 n=Nop+1
No oo

> [Ja-on« J] a-em
n=1 n=Np+1

> 1-r

Hence V C B(x,r,t) € G. Therefore G is open in the product topology. Conversely suppose G is open
in the product topology and let x = {x,} € G. Choose a standard basic open set V such that x € V and
V c G. Let V = [],en Vi, where each V,, is open in X,, and V,, = X, for alln > Ny. Forn =1,2,--- ,Np,
let 7, = Dy(xn, Xy — Vi, f), if X, # V,,, and r,, = €™, otherwise. Let r = min{ry,ra,--- ,rn,}. We claim that
B(x,r,t) c V. If y = {y,} € B(x,1,t), thenm(x, y, t) = [ 1,21 mu(Xn, Y, t) > 1=rand so m,(x,, Yy, t) > 1-r > 11,
foreachn=1,2,--- ,Nyg. Theny, € V,,,forn=1,2,--- ,Ny. Also forn > Ny, y, € V,, = X,,. Hence y € V and
so B(x,r,t) € V C G. Therefore G is open with respect to the fuzzy metric type topology and © € U. Hence
T and U coincide. [

Theorem 2.6. An open subspace of a complete fuzzy metrizable type space is a complete fuzzy metrizable type space.

Proof. Let (X, M, *) be a complete fuzzy metric type space and G an open subspace of X. If the restriction of M
to Gis not complete we can replace M on G by other fuzzy metric type as follows. Define f : GX(0, ©0) — R*
by f(x,t) = m (f is undefined if X — G is empty, but then there is nothing to prove.) Fix an arbitrary
s > 0 and for x, y € G define

m(x,y,t) = M(x,y,t) * M(f(x,s), f(y,5), 1),
foreach t > 0. We claim that m is fuzzy metric type on G. The properties (1),(2),(3) and (5) are immediate
from the definition. For triangle inequality, suppose that x,y,z € Gand t,s, u > 0, then
m(x, y, t) = m(y, z,u) =
(M(x, y, £) * M(f(x,5), f(y,5),£)) * (M(y, z,u) * M(f(y,5), f(2,5), 1))
(M(x, y, 1) = M(y, z,u)) = (M(f(x, ), f(y,5), ) * M(f(y,9), f(z,5), 1))
< Ml(x, z, K(t + u)) * M(f(x,s), f(z,5), K(t + u)) = m(x, z, K(t + u)).

We show thatm and M are equivalent fuzzy metrics type on G. We do this by showing thatm(x,, x,t) — 1
if and only if M(x,, x,t) — 1. Since m(x, y,t) < M(x, y,t) forall x, y € Gand ¢t > 0, M(x,, x,t) — 1 whenever
m(x,,x,t) — 1. To prove the converse, let M(x,, x,t) — 1, since M is continuous function on X x X X (0, 00),
then

lim D(x,,, X — G, s) lillqn(sup{M(xn, y,8):y €G))

\%

h]lqn M(x,,y,s)
M(x,y,s).

Therefore lim,, D(x,, X — G, s) = D(x, X — G, s). On the other hand, there exists a yp € X — G and 1y € IN such
that for every n > ny we have

D(x,, X = G,s)* (1 - %) < M(xy, Yo, S).

Then lim, D(x,,, X — G,s) < M(x, yo,5) < sup{M(x, y,s) : y € X - G} = D(x, X = G, s). Therefore lim,, D(x,,, X —
G,s) = D(x, X — G,s). This implies M(f(xy,s), f(x,s),t) — 1. Hence m(x,, x,t) — 1. Therefore m and M are
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equivalent. Next we show that m is a complete fuzzy metric type. Suppose that {x,} is a Cauchy sequence
in G with respect to m. Since for each m,n € N, and t > 0 m(x,,, X, t) < M(x,, Xy, t), therefore {x,} is also a
Cauchy sequence with respect to M. By completeness of (X, M, #), {x,} converges to point p in X. We claim
that p € G. Assume otherwise, then for each n € N, if p € X — G and M(x,, p, t) < D(x,, X — G, t), then

1—-M(x,,p,t) =21-D(x,, X -G, t) >0,
Therefore

1 1
>
1-D(xy, X—G,t) — 1=M(xy,p,t)

That is
1

R e ey

for each t > 0. Therefore as n — oo, for every t > 0 we get f(x,,t) — oo. In particular, f(x,,s) — oo.
On the other hand, M(f(xy,s), f(xm,s),t) = m(xy, xu,t), for every m,n € N, that is {f(x,,s)} is an F-bounded
sequence. This contradiction shows that p € G. Hence {x,} converges to p with respect to m and (G, m, *) is
a complete fuzzy metrizable type space. [

Theorem 2.7. (Alexandroff) A G; set in a complete fuzzy metric type space is a topologically complete fuzzy
metrizable type space.

Proof. Let (X, M, *) be a complete fuzzy metric type space and G be a G; set in X, thatis G = N7, G,,, where
each G, is openin X. By the above theorem, there exists a complete fuzzy metric type m, on G, and we may
assume that m, is bounded by 1 — ¢™. Let H be the Cartesian product [];; G, with the product topology.
Then H is a complete fuzzy metrizable type space. Now, for each n € N let f, : G — G, be the inclusion
map. So the evaluation map e : G — H is an embedding. Image of ¢ is the diagonal AG which is a closed
subset of H and by Corollary 1.6 , AG is complete. Thus AG is a complete fuzzy metrizable type space and
so is G which is homeomorphic toit. [
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